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Is a rectangular array of numbers. The numbers are called elements,
and the general form of matrix, say A, is:

anr dp an ain

d1 an an 4
A=

Amt 8n2 8m3 .. A

Cof Al iy A palh Al S8 in Jiins (o A pimall (f graialy
C 5B e A Fab il Lagaly Cogan il el dde 5 gumy g <3S

m % 0 saee Y b Gighall (i Joalay Order gt 0 iyt
G g @y ke i o Ao genall ualic (e Blement paie (S Chyoa,
cagentl By Jiay j SN Chuall B iy i Y G e

1l phaell dibia e 0l

1
A=| 0 3 |, B=| 10 5 |, C=| 2 |,
2 7 3

D=[5], E=I:10 7 5 4 3]

=~
[

—
(&)




\
[P Py PP o e N [

Ln e o Gl s (i gem s ighon E o (g 5iat A of sty

¢ 5) Elements in First Row J il usbic o cun3 x 2 & Order
B 4 gunall .(4 0 1) Elements in First Column J¥ 3gesdl abic 5 (4
el 33p s gl Sac g5l Al Square Matrix dag e 38 ghocas (b
Column 3,3 500 A shima cand C Agiiadly .2 X 2 g order gia 2 of ‘__‘93
order Lgia 33 ol 5 Cigion iy aatg 250 o o5 it L ySY A g Mutrix
o B dshoad) ol |l s Baaly Aad e sS58 D dgiaall U1 % 3
s LSl lldg 1% 5 ga order Lgia o s row matrix Abes 4 i aa

stsae Rl s 2nl s Lo

Lme slandy 2y ol i ghmdl (any o iyl (Y A
P (LS TINOR L%

Lash (5 gty S A shnall (4 5 :Square Matrix da el 4358 vaal

:‘:}\:\aimxm_piﬂanq:l_AJ.‘lszy\ 230 5 Chsteall 22c
1 2
A= 3 4
g pall i sheadl Ay c5Syn An sl e A o Js o oSas

s jmalic gaan Al 43 ghiaall b3 izero matrix iy hial) 4 ghoaall
1 M S 5 0 el sale b 3a s c2ero Jid

RN

@5l ) i ghadl 2 s equal matrices &y gmatiall cilh ghael
My = mgXny Ay e Legdin 50 o o 53aeYY 5 Lo pieall a2l et o




it T

C 3B o phaad) Haa copmsboia 5% o sl i Lag) Oy ymeaie S
1 LS S 1Y equal matrices N sludia

— - .
M 4 -1 ] l 4 -1
B={ 0 10 I , sz 0 10
[ 5 J Lo s
- - L

o oek G ualiall sy idingonal elements 4y bl jaliad

b A giadll Jal JLID B B oyl d shenall ) Ll

sl iy o e a1 el G5 b gl @, a8y ealiad
A T el Ay il pulial) Wi L3 panll

ap=0can=5cay =1 $peabiad o

B square Axy sl G sheaall 4 :diagonal matrix &g il A ghuaal
dingonal et M Sl ealic Ul zero lial W jualic e Sy
1Al JOEL & ) Al 2408 Ky 4 elements

diag (i an ... dm)

$A0N B Ad phaall oy il s iad) B oy




\
e LR N [ P Vit v ppen ey )

JSEIL LS (e (W3 X 3 Ha il G Tl Al s Logdl iy

RN
B = diag |: I 2 - :|
ldguasll 7 ylaliy aeaxdl 6.3 L
Addition and subtraction of matrices

oS 1y u;ﬁﬂ}imalc‘)h@.«p Ji Cild ghiaa Bae C.A;:L‘_tlnc;\).a‘\ 5]
B.A ()l ghiasll cwilS 1Y the same size or order sl j paall il Loag
€l afie Bllaiy (A + B lage gons (fd em X 0 S8y e o) e il e
B klial pualiadl sen (g Wle Juans pualiall ym X n ds )il e () Sa—a
O gl
If A and B are both of the same size or order. Then, the sum A + B

is the matrix obtained by adding the elements of B to the corresponding
elements of A. Similarly, we can obtain A-B

1 JE DA g il gl Ailanll 038 pran B sy

4 3 35 , 3 2 4
LetA= B= , and
0 7 6 4 3 2

Find, if possible A+B ,B+A,A~B,B—A,A+C,B-C
1;)3@.“&5;2*3)AAEA’M\ordeerJAJ&;LUAM
tﬁ,;u;s*g;mgjzxzymwog_.scu,a_d\ui‘B:u',s_mn/




ol sl

.

oo Lagin Y 2 she e Bbem (5l LT Lagn o SIS B 5 A G s
gl LS S il of8 il 5 o lld 0y 28 € Al

443 342 544 7 5 9
A+B= =
1044 743 . 642 14 10 8
344 243 445 7 5 9
B+A =
4+10 3+7 246 14 10 8
A+B=B+A  bs By,
gl b gl 7 e e L
43 32 54 11 1
A-B= =
10-4 73 62 6 4 4
34 23 45 B S A
B-A =
410 37 26 6 4 -4

A-B=-(B-A) gl Jall,

:Multiplication of matrices culd gaualf «_\).na 6,4%%}
Al B ghean Gae Tl i Tt el Dl gl
VS O g G i i A gee A ghna b dgies A ghina el

‘Scalar multiplication <yl b 4b ghuaa s 6-4-1
ol b A Sy A adl alie e paie 1S Cpn i
423 ol e Agheae Sigg oA JSAG Y o Juantd o oSy ¢ A
Ugiead) ealie (o aie J8 (s oo Gadld W juabic U (A 2340 adl
coculaly A




Sy T T GGy BUE

If A is any matrix and C is any constant (scalar). Then, the product
cA is the matrix obtained by multiplying each element of A by c.
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If A is an m X n matrix and B is an p X n matrix. Then, the product

AB is the m ¥ n matrix whose elements ure defined as follows: To find

the element in row i and column j of AB, single out row i from A and
column j from B and multiply them using inner product.
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